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(@) If £'(0)=—1 ,then Jiinof(Bh)_hf(_Zh):

() Let [ f(dt=xsin(rx) ,then f(4)= |

sin X

© lim, (—)X =

1ox %X _
(d) j‘om dx = .

© j‘mmImL dy dx = .

(f) Let D={ (x,y) | x°+y* <2}, then [[(x’tanx+y°+3)dA=
D

(9) The derivative of function f(x,y) at the point (1,1) in the direction toward (2,1) is3

and in the direction toward (0,0) is —J2 , then the derivative of f at (1,2) in the

direction toward the point (4,5) is
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2. Suppose that f is a continuous function satisfying

f(t)

——2——dt for x=0
(t+2)(t+3)

fo)=2+]

Find f(3). (15%))

3. Evaluate the followings : (15 43)

(1) Iim1{2?+2zn”+_._2";’}

n—o N

(2) lim {3{1}7% F}} » where [[]means the Gaussian function.
x—0" X X

| I e

x—1 (l_ X)n—l

4. Let f(x)=a,x"+a,_X""+..+ax+aya,#0. (1543)

1

o1 ™
(a) Evaluate lm{f(x)}

NN

(b) Provethat 30 ¢ {O,
n+1

} ) f(cos:9):a0+%+...+i

5. Prove that % <330-3 <é by Mean.Value.Theorem (10 47 )

6. Find I0+we’xzdx (10 43)
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